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g SS we/0) | 159 | 29 | 100 | 158 | 29 | 100 | 188
g | JBEEE (PN/100m0) | 7.0X10° | 2.2x107 | 0.0x10° | 0.0x10° | 2.2x10% | 0.0x10° | 7.2X10
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REOZE g/ ) | 0.000 | 0000 | 0.001 | 0,000 ) 0.00L | 0,000 | | 0.000
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B ysovatty /o) | 5.4 | 6.4 |10 [ 2.0 | 2o | 5.0 [ ®’5
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g _waF me/2) | 0.3 | 030 [ 0.33 [ 028 | kN 0.8 [ 0.32
s JIEYE me/0) | 0.041 | 0.059 | 0.0 | 0050 [ 0.059 | 0.038 | 0.047_
*| RERERE  e/0) | 5.2 | .28 | 1.2 | L5 | . 5.2 | L2 | 2.7
| swmranva  (we/0) | 0.7 | . 06 | 06 | 05 | 0.7 | 05 1 0.6
B| #omn  (ue/e) | 0.7 | .07 ] . 0.6 | 05 | 0.7 | 05 | 06 _
i _
- R ! A e I e e
H
| pi6.0 Ax (CaCOme/€) [ -1.45 | -30.4 | 182 [ L6 [ 8.2 | . 0.4 | -3.70
piB.4 Ax (CaCOamg/£) | 14.9 | 518 | 216 | 42 | 216 | 4% | 13.0
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£V mg/0) | 4.2 | 0.0 |43 | 522 | 22 | 6.3 1 491
A Y A (mg/ £) 2.1 23.9 43.4 43.4 43.4 23.9 35.8

vl




S1

F2- 9 IFEHOKIERZKEGHIESSIREZR @& JI1D

KF%: CERR 3 E) mAd b R SR s
-ﬁ 5 SITEEBEA:
. = s I B ~
N E B Hrgmean| 368 | 3804 | 3.8 | 4.9 B K | B/ | E B
Ak | L N O . S B 2 8B |
BRI % : 5) 8:05 11:30 10:05 12:10
pi\SA (m) | - SotE ORI N o .l SRR Ui N .
i w/s) | 0.79 | 093 | . 0.9 | .. 068 | 099 [ 068 | 0.8
B | BOKE e | Wl | W | we | o -
jy IR (m) | 0.3 | . — L. i — L e T i
Prokak (m) | | 0 10 005 ........... 0 10 005 .......... U W R
U (c) | 224 | . AR . 5.8 .26 | 288 | 2 6. 13.6_
s | K (t) | 2.0 | . 298 |28 | 204|298 | 2 4 .20
Zai WRERE | BROE | Boe® | BRes | — | T S
H_BX o) | ER | R mR | c:3 S = =
g I (em) | Tl | 13.3 | ... 15.1 |55 ] . 15.1 (.85 | 102
| yviiiilie (m) | T — o= == e
= I sl et st ol s
o PH  GUERPKET) | 5.36(25) | 4.48@3) | 4.8847) | 6.0609 | 6.06 | 448 | . 5.12
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% CODun mg0/2) | . 145_ 12_2 ........... 0 _94, 136J ....... 1-45 094 ___________ 1~Z4

& SS me/2) | 147 | 27 1 120 199 | 147 | 99 | 123

£ | RBEEE (PV/100n2) | 9.2>107 | 4.9%10° | 5.0x10° | 7.0x10° | §.2x10% | 5.0X10° | 3.6x10°
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piB.4 Ax (CaCOsme/£) | 18.0 | 17.6 | 324 | a1 | 4 | 17.6 | 2.0
pd.3 Bx (CaCOgme/2) | 549 | 7.4 | 498 | 520 | 714 [ 4% | 5.70__
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ey A (mg/ £) 63.8 41.8 70.8 92.8 92.8 41.8 67.3
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ENE RO mg/2) | | 0.002 | 0.000 | . 0.007 | _0.004 ] 0.007 | 0000 | 0.003
B RES mg/2) | 0.44 | 069 | | 0.57 |...070 | | 0.70 ... 04 | 0.60
R RV (mg/2) | 0.048 |  0.085 | 0.047 | . 0099 | 009 | 0047 | 0.062 _
%| SEERRE  (e/f) | | 6.9 | 25 | 13 | 19 | . 6.9 | 13 [ .32 .
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pd.4 Ax (CaCOsmg/ £) _18:3 ........... 17:6-,_30'8_ .......... 2'?2'_9_-_30_.8_ ________ 17-6-_-__227 _____
pi4.3 Bx (CaCOsmg/£) | 6.2 | . T.6L | . 4.8 | .70 [ .60 | ..48 | | 6.4
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B yavoatty /o) | 180 | and (743 105 1A 148 | UITe
vy H me/2) | 645 | . 69.8 | .13 | _ 948 | A8 | 64.5 | .T6.1
BRELYH (ng/l) 54.4 48.3 4.6 92.6 92.6 48.3 61.5
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